Math 11U

Cleaning off the mathematical cob webs
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Solve each system by substitution to find the point of intersection.
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Evaluate the following using the fractions rules.
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33) (26 +6)(56 + 3) 34) (8x +3)(6x +4)

= 1ob+6b+t 30bt+18 =4Bxt 3218 x+12-
= Job+ 36b +18 =48x 3+ SOxtI-
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Factor the common factor out of each expression.
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Find the value of each trigonometric ratio to the nearest ten-thousandth (4 decimal places).

43) tan 54°= |- 3764 44) sin 19°=0-3256

45) cos 82°=D-1342 46) tan 78° = %- 7046

Find each angle measure to the nearest degree (whole number).

47) cos U=0.3907 V= cos (o 3%7)= 67" 48) sinB=07547> B= sia"[0°75'¢-‘9=‘l-‘\.
49) cos A=0.9962 3 ) - (os.'(oﬂ‘)bZ): 5° 50) tan Z = 0.53173 Z: 41\;‘(053 17); l€
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